. =T uw.ex
B,
S 7/ qe-~s8=1om

1. Ameasured temperature in Fahrenheit scale is 200°F.
What will be its value in Celsius scale ?
(a) 93.3°C (b) 40°C
(c) 99°C (d) 30°C

2. Match List — 1 with List — Il and select the correct
answer from the codes given below the lists :

List=1 List=11
A. Abolition of Titles 1. Article 29
B. Freedom to Manage 2. Article 21A
Religious Affairs
C. Protection of 3. Article 18 169
Language of Minorities il
D. Right to Education 4. Article26 9 |
Codes :
A B Cc D
(a) 3 2 1 4
b) 4 3 7 4
@2 3 4 1 18D T
@3 4 1 2 S g &

3. Which of the following statements regarding the 74th
Amendment to the Constitution of India are correct ?
1. It provides the insertion of a new Schedule to
the Constitution.
2. It restructures the working of the
Municipalities.
3. It provides the reservation of seats for
women in Municipalities.
4. It is applicable only to some specified States.
Select the correct answer from the codes given below :

Codes :

(a) 1, 2 and 3 are correct
(b) 1,2 and 4 are correct
(c) 1,3 and 4 are correct
(d) 2,3and 4 are correct

4. Which of the following is empowered to make law
for economicand social planning besides the infants

and minors in India ?

(a) Only the Central Government

(b) Only the State Governments

(c) Both the Central and State Governments

(d) Only the Local Governments

5. if “All social-reformers a
one of the following pro
(a) Some non-humanis
(b) Some social-reformer

position istrue ?

ts are social- reformers
s are non-humanists
cial-reformers

re humanists” is true, which

(c) Some humanists are 0

social e non-humanists
(d) No non- ¢

reformers ar

A B C D

(@) 3 2 1 4

(b) 4 3 2 1

(c) 2 3 4 1

@3 4 1 2

3. qmﬁaéﬁm%:m&ﬁaﬁm%mjﬁm%ﬁﬁﬁ
1. % T B O 0 S G I Fw R |
2.u3m1ﬁmaﬁﬁmﬁguneﬂaﬁtgqﬁﬁmm%|
3. 7g TmaeEel # wfkenst % fag smEer H

IqEY F@1 2 |
4 ¥ S AR T A A TR |

3 fd T 7 B TE I H TG HIC ¢

C T4

(a) 1,2 3 3 wA &
(b) 1,2 3N 4w &
(c) 1,33 awd &
(d) 2,33 4T 2

4. a3 frefaRea o 4 frd Rrgadt 3iv sreaesi & ae-
maﬁmaﬂxmﬁmﬂw__aﬁ%%qﬁﬁ:_ﬁqh
& wiFal wew € 2 '
(a) Fadt i TCHR
(b) F=e1 TS TR &
5 @ T QI GRT
Fael THE FEHT H

5. 33 “Fol TS -G A ¥ e R, P
A H Y - O G & 7 -
(a) T© JHIAEIE) FHS-GURE §
b) S THISI-GUE IAHAAEI! &
(d) HY§_SFEHIS-GUITH FHATAG 7 7
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10.

11.

12.

6. Match List — | with List — || and select the correct

answer from the codes given below the lists :
List -1

List -1
(Subjects) (Related
Articles of Indian
Constitution
A. To fpster respect 1. Article )
for international law 51-A (h)
B. To hg\fe compassion 2. Article 51 (c)
for living creatures
C. Todevelop spirit of 3. Article 50

inquiry and reform

D. To separate judiciary
from_ the executive in
Public Service of the State

4. Article 51-A (g)

Codes :

A B C D
(@) 1 2 3 a4
(b) 2 4 1 3
c)a 3 2 1
d3 1 a4 2

Which number will replace the question marks ?
4,10, ?, 82, 244,730
(a) 14
(c) 28

(b) 24
(d) 77

A is the brother of B, B is the brother of C,
Cis the husband of D and E is the father of A, then
Dis related to E as
(a) Daughter

(c) Sister-in-law

(b) Daughter-in-law
(d) Sister

If in a certain code DECEMBER is written as
ERMBCEDE, then which of the following month
would be written for ERMBVENO ?

(a) AUGUST (b) SEPTEMBER
(c) OCTOBER (d) NOVEMBER

In the following series, what would be the value of X ?
1,1,2,3,5,8,X21
(b) 13

12
‘éi 14 (d) 15

i f
Which of the following was the main theme o
Raisina Dialogue which was held during 14-16

January, 2020?
(a) Fluid Partnerships
(b) Multilateralism and multipolarity
(c) Navigating the Alpha Century

(d) None of the above
First Indian woman to win the World Rapid Chess
Championship is
(a) Koneru Humpy

(c) Tania Sachdev

judit Polger
ig; None of the above

6.

o & A
1M -uﬂqﬁfe‘ﬁmw g
gxﬁ!wgﬁrmﬂwﬂﬁm

et - | ( gu=ll
) iftra 739)
# ufa 1.,
" :;rtf:;;;fafh : 51-% ()
p. wftral % wfy Zan wrE A 2, e 51
C. wrarAa af gun A 3 =54 50
D. :r;m;n ARt 4, w7517 (D)
#f sraTfern! @) HrdTerH
} gus HA
e
A B C D
a1 2 3 4
2 4 1 3¢ goap L
@4 3 2 1 .2 o
(d) 3 1 4 2 5 ¢ 17-
JiEE ha 1o

_"‘-"

ﬁiﬁ«‘#-mqamﬁng{uﬁm ?

15~ @/10, 2,82, 244, 730 52 23
i’ 14&” 'ﬂf. (b) %ﬂ zr‘-ﬂ.
PR 28 4 Y (d) 77
-_— - -—
3. AB®WR BCHYER CDF MR AME

10.

11.

12.

A% Rar &, A DH ER T=Y R

(a) ¥ =

(c) e (d) s =

afe foret fofeea e A BER ¥ ERMBCEDE R
ST &, @ Prefafea oz ® & fF8 ERMBVENO % &9
% foran smm ?

(a) AUGUST

b) SEPTEMBER
(c) OCTOBER @govemazn
frfafiea Aot § X w1 99 &0 ®m ?
(1_.).1, %. 3,58, assl ,
a) 1 %i 2
(c) 14 15

T gEE, A 14-16 T, 2020 B TR g,
o e faw fefifea 3 8 fS9-w @ ?

(a) Wﬂm:mmm .

(b) @

(c) !Wtsgﬂﬂ

(d) IWe § & W 7
ﬁwiﬁsmﬁﬂu\ﬁmﬁﬁaﬂmmmt
(a) SE wh (b) f¥q FEw

(c) iF W (d) I A A W

on
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13,

14,

15,

16.

17.

18.

(c) Andhra Pradesh

i ACC-Drding to ‘Sustainable Development Goal (sDG)
India Index, 2019’ recently released by NITI Aayo€:
which State holds the first position ?

(a) Uttar Pradesh (b) Bihar
(c) Jharkhand (d) Kerala

Indian Navy has launched ‘Operation Vanila’ in
January, 2020, in which of the following countries ?
(a) Sri Lanka (b) Maldives

(c) Madagascar (d) Oman

Which of the following countries took over the
charge of President of G-20 countries from Japan
in December 2019 ?

(a) Russia (b) China
(c) Saudi Arabia (d) Brazil
Match List — | with List — Il and select the correct
answer from the codes given below the lists :
List -1 List-1l
(Power Plant) (Type of Energy)
A. Chamera 1. Atomic power
B. Gwal Pahari 2. Thermal power
C. Kudankulam 3. Hydro power
D. Patratu 4. Solar power
Codes :
A B C D
(a) 1 2 3 4
(b) 2 4 3 1
(c) 4 3 2 1
(d 3 4 1 2

Given below are two statements, one labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : According to Geological Survey of
India the total reserve of all grade coal in India is
293.50 billion tonnes.

Reason (R) : More than half of total proved reserve
of coal of the country is found in two States —
Jharkhand and Odisha. .
Choose the correct answer from the codes given

below :

Codes : ‘

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A) _ ct

(b) Both (A) and (R) are true but (R) is not corre
explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which one of the following States of India ranks
second in terms of population and third in terms
of area (2011 census) ?
(a) Uttar Pradesh (b) Madhya Pradesh

(d) Maharashtra

www.examstocks.com

13,

14.

15.

16.

17.

18.

BESO-19

Hfy sm g we @
mw’mw,%mmmnﬂmm
wWR?

(a) I I ;—?’:

(c) ZmETE .

o 3 form 21 7 SEE, 2020 F e AT
3 ‘g e IR R 7 e

(a) et 3@““

(c) HETTER ._.

e 2o & & fope 391 9 fegar 2019 & G-20 < H
yeerr SI9A & T 6 ?

a) &6 (b)iﬂ?
((c;mw (d) e
@4@;@—"%3&%3@&‘232“@%:@
f23 T e @ TE W F 5 HifA
-@_4 !{iﬁ-—ll
(et v (I % STHR)
A. =00 lmvrﬁﬂiwﬁ
B. e YIS 2. o F
C. FeHG<H 3. Wl S
D. Yauq 4. A FA
Fe:
A B C D
(a) 1 2 3 4
(b) 2 4 3 1
(c) 4 3 2 i
(d 3 a4 1 2

13 3 e fo T %, o e (A) Sl GRS T (R)
HE TR |

o (A) : T ymf w3 SgER AT § @ i
¥ Fraa @ Hl ER 293.50 FG T 2 |

o (R) : 391 F P % Fel R e F 0 @
iftre 3 Tl - FTeEve Td e # o R |
#9 fu M F2 ¥ W IT H T A :

&

(a) (A)sgz (R) 2 T & 3i (R), (A) i Th =
HAdl

(b) (A) 3 (R) i &4 & T (R), (A) F T ==
EGECGIR

(c) (A)&ca & W (R) TTerdl R

(d) (A) T & TG (R) W &

e 35 P T & BA-a e B R A R
@;@ﬁ g S 2911 SATORT) 27
(a) I T M

(c) 3 5 (o) wewg
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19. Match List | with List - and select the ¢orrect

answer from the codes given below the li

List = | ts :

List =)
(Tribes) (Location)
A, ]al'awas 1. Uttar Pradesh
B. Kukkis 2. Madhya Pradesh
C. Tharus 3 Manipur
C([:‘.’efc:\nds 4. Andaman and Nicobar
A B C D
(a) 2 3 1 4
(b) 4 3 1 2
(¢) 3 q 2 1
(d) 1 2 3 4

20. Match List - | with List - || and select the correct
answer from the codes given below the lists :

- List - 1| List =1l
(Biosphere Reserve) (States of India)

A. Nokrek 1. Assam

B. Manas 2. Kerala

C. Similipal 3. Meghalaya

D. Agasthyamalai 4, Odisha
Codes :

A B C D

(a) 3 4 2 1

(b) 4 2 3 1

(c) 3 1 4 2

(d 2 3 4 1

21. With reference to the urbanization in India, which
of the following statement(s) is/are correct ?
1. According to the 2011 census more than
60% of total urban population of the country
resides in category 1 cities.
2. There were 53 urban agglomerations with million
plus population each in 2011 in the country.
Select the correct answer from the codes given below :

Codes :
(a) 1only (b) 2only
{c) Both1and 2 (d) Neither 1 nor?2

22. Which of the following States of India has the
highest number of male child (0 - 6 years) per 100
girl child as per 2011 census ?

(a) Bihar (b) Punjab
(c) Haryana (d) West Bengal

23. Loss of water from the body through perspiration
depends on
(a) Atmospheric temperature only
(b) Atmospheric humidity only
(c) Both (a) and (b)
(d) None of (a) and (b)

19,

20.

21

22.

23.

geso ~ 19

gt ¥ A=
e ) aphy 0 aqnfera Hifr ?l?ﬂ s
fau e 0wy g w9 i, :

- | g -1l
(wgmfnnn (srfrorfa)
A A 1. e wen
B, 4k _ 2 w’-"
C. . R )
D, tig a. wgmr 3 FEAR
¥
A B C D
(a) 2 3 1. 4,
(b) 4 3 ., 2
Q) 3 a 2, 1.
(d) 1 2 3 4

ot — | & g - i i o afad % 3
fear it e R} vl g w wma Hifam

i -~ | ot - i
(- smfara at) (virra % 777)
A. AhtR. -, 1. 354
B.WHE 72 A
c. fafifere (3 3. dwe
D. InTETweTs %4, e
L T

A B C D
(a) 3 4 2 1
b) 4 2 3 1
3. 1. 4, 2
(d) 2 3 4, 1

I e & wed § frafafea wu@ & ¥9-3/3
i

1. 2011 H FHET T W IS
1 60% A At wum paccik o R N
2.2011 3 30 ¥ 109G A ks e I 53 TR
gAY L

2 fed ™ fz & vt I = w77 A -
F2:

Fad 1 (b) ¥== 2
@Qﬁzéﬁ (d) IR 13d2
20118 ST & wra & Frafefes o= §
A fam g lgﬁm(ﬁ (0} 6 ) N wen W
] B G 7 s
(a)faEn - (b) v .
() ¥Rammy (d) wffed @me,

W ) AR A W@ (WA E) g e @ el fak
aedt R =

(a) et QrarE & a™ W
&del qraam W
(a) 3 (b) QN W

(d) (a) 3t (b) fasedt wt adl
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27.

28.

29.
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O

“{hich of the following elements Is NOT a

Micronutrient in plants ?
Ez) Iron (b) Manganese
Copper (d) Magnesium

Which of the following statements |s NOT correct
about haemoglobin ?

{(g; Itis red coloured
Itis the carrier of oxygen from lungs

: to the cells
(c) Itis slightly acidic ¢

(d) 1t carries carbon dioxide away from the tissues
to the lungs

]Vleasuremen_t of glycosylated hemoglobin (HbA1c)
in the bloo‘d IS useful for the management of

(a) Apaemla (b) Hemophilia

(¢) Diabetes mellitus (d) High blood pressure

Which of t_he following duties have been prescribed
by the Indian Constitution as Fundamental Duties ?
1. To defend the country

2. To pay income tax

3. To preserve the rich heritage of our
composite culture

4. To safeguard the public property

Select the correct answer using the codes given below :
Codes :

(2a) 1and 2
(c) 1,2and 4

(b) 2and 4
(d) 1,3and4

Given below are two statements, one labelled as

Assertion (A) and the other as Reason (R):

Assertion (A) : The Council of M inisters in India is jointly

accountable before Lok Sabha and Rajya Sabha.

Reason (R) : Members of both Lok Sabha and

Rajya Sabha are eligible to become Ministers in

Union Government.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is-not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Arrange the following Committees on Panchayati Raj
in chronological order and select the correct answer

from the codes given below :
1. Rao Committee

2. L. M. Singhvi Committee
3. B. R. Mehta Committee
4. Ashok Mehta Committee

BESO—-19

20, Frferftgn & @ - e i i g dew AR 7

(b) Hrfrat
(a) #mac =
@i (d) Brehferm
25. Hrirefu ¥ gae i frefafe # 8 $E-81 F

) TR 2

MHEEAE o
i 2 Wifyrsi o S 1 AE B B

—

3 sk g @
(d) 7w et & e e s TS ) T >

HbA1c) % 1 PefefEa
5 i st
Tadreqar

(b) Ffefm
c) miE (d) 3= &« 9
27. v d@fyum § Aefafea # @ fea wdea o1 Ao
wdsdt ¥ 7

1. 30 6 W w@, ~

g:'sm& 'H% $1_ el g
fREu] s

4.@%%@@%@1

2 AT 52 § 58 3 1 =9 Hig

He:
h) 23 4
(a) 13 2 Ii e

() 1,23 4
A 2y e &, o o Bl (A) o QR T (R)
FE TR

e (A) - wra § i wfteg dge w9 disaw ok

TSR, T % 3 I # |

w1 (R) : Seha iR T A ¥ wem Wy

HEER F Wt o9 B o @ ¥

Hre e T g2 A v IR = w7 il

He:

(3D (A) X (R) 3R Tt & b (R), (A) s &

(b) (A)%ﬂt(ﬁ)ﬁaﬁr‘éqtﬁm], (A) $ w& =we
T

28,

(c) (A) e & g (R) roma &
(d) (A) e @ fobg (R) vt %

Codes :
(b) 1,3,4,2

(a) 2,3,1,4
(c) 3,4,1,2 (d) 4,3,2,1

29. wERIdt T W e PR wfvfv <
W@ﬂ@mmmw
Hf
1. Ta dfify
g e
3. &, am,
4, I Ngan wiAfy
T
(a) 2,3,1,4 (b) 1,3,4,2
(c) 3,4,1,2 (d) 4,3,2,1
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Ave . 9 > BC A > 8550—19
) & b I TR )
B s T e
Pl ' o g o ol
0 Whitﬁ Part of the Constitution of India rfL.thn—.ﬂw 30, e wfn - v 7% A e ”
financial relationg between ( entre and Stateg » maant w1 o g wa i 4
w :‘m . (b) Part ¥ (a) MM 10 (b) w11
P55 et K (d) Part X (¢) ¥m 12 (d) wm 13
3 ::;r::\t;t A makes 1 chair in 6 hours, Carperter g | 31 A3t 65028 it o gafl waa R B 75t 75"7}.;
1\‘Ml;i (Al In 7 hours and Carpenter ( Mmakes v ] wqrn ¥ oA C w3t gz B TR :Pﬂ E a|
bia hnthour&. ifeach Carpenter works B houre pyor a2 wrir wzd yfafaa g oz wm rm21 fat
il ‘M W many chairs will ye made in 21 days ? frh ’{wf‘i'ﬂ aih A & W p g
() 73 (b) 69 (a) 64 by 69 T @
(d) 78 (D73 @ 78 A
32 Filli y ; Sux)
g:ve:: :)::‘Ot:ank USINg one of the correct options | 32, #1 fa m famet @ 0 wx o famen w1 g FA
: e v & qff i
BCOF CGHIK: : LMinp - gﬁﬂ?-?ﬁq” i gl
(a) QRST tGHIK : : LMNP )
(c) QRSU Bt GRS (a) QRST (b) QRTS
(d) QRsv (&parsu (d) QRSV
33

If th - e
& ¢ Republic Day of Indiain 1980 fall on Saturday, | 33. af2 1080 i wra =1 o fram e 31 7T
Was born on March 3, 1980 and ‘Y'is 4 days older .

o R, X ® T 3o, 1980 Ft #m R, YV, A B
to X', then what will be the da o ’ : Mz i -
y of Y’s birth ? Aafmam R @Y F = w fm wm oA 2
(a) W.ednesdav (b) Thursday (a) guaw b)) gF=afaan @
(c) Friday (d) None of these (c) Tpam @‘;{m g —— i
34. Which f | . 5-‘4
- Ich one of the following numb frofafaa R T (7 3 n
at the sign of interrogatiorg\ (?L;n; Stanbe plated & C) 3 \\—@1‘:::?7 " ,_L_i@ﬂg
51 11 | 61 (h2r " Q7 '11 ' 3L Jan {98° '.n::
64 | 30 | 32 1 4o\t Y
35 > : 64 | 30 | 32 37-1
T - (L) <18 s | 7 [ 43 =+23+3
27 B -
() 32 , (a) 25 (b) 27
(d) 37 as (032 - 2= (d) 37 3‘.—}':) Q
35. ’

Five years back, the ratio of ages of A and B w QLS 5 "
4 :5. If the present age of A isg29 years, then tl?:- B %aﬁj AN B FAH @ 4:5m A AH

present age of B is . FY29TWR, TR wATm g2 ¢ By
(a) 31 years {b 33 years % * i 4¢=% ELl h
(c) 34 years d) 35 years @

3399 "
Ay
;g) e ussm b %‘:‘
36. x=2+2% +2% thenthe value of 3 6x2 + bxis 6. FMx=2+21 423 @, S by el e =

; 4 Eh 3 _6 2 + A T 2
) o @9 e e
(c) 4 (d) 3 3 4 L RY 4y
3 2 (d) 3 % =Y -3y
37. Two chords AB and CD of a circle intersect at a 37. u&gd g aad ABww CD ¥ AT o )
: ! and : « \
E:O;:Lzrtu;side thecircle. If ZPAC =50°, then ZPDB #1af2 ZPAC = 50°, A hP»fEBE:Hm L%\ o)
(a) 90° (b) 130° %909 (b) 1300 A =20
{c) 50° (d) None of the above 50° () 4% R X oY T/ W D
38. If the H.C.F. and L.C.M. of two numbers are 21 and | 38. ¥R Q ¥l #1wws shawy M : -
84 respectively and the ratio of numbers is 1: 4, then ] ;,m. w3l ® g 1Tel Rn RCE
the larger number in these two numbers will be ) de 2! 2% B
(a) 108 (b) 84 (a) 108 b) ('}
(c) 48 (d) 36 (c) 48 36
e W8 7 } | .
) )'ln 2 ¢ 2 "‘:}ﬂf‘b e wW-1) = 2+q___.‘[
w2 O-0n(%-2): 2+ 4 +6(wy P
w®-4- Lyt 4 1n = ;("P’&Q-/_*Q_
¥ooonbtex = 2 )
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39, i
Which State of India ranked top In the

overnancE 'ﬂdex am ¥
country in the vear 20‘1‘-‘3% big States group

(a; Kerala X
(c Maharashtra (d

40. Why the ing
.
mechanjsm ?ec“

°¥ are chargeq
b) T at higher rate than direct taxes
) lljc?trpasre charged the same rates for all income

Good
In the

Tamil Nadu
Andhra Pradesh

axes are termed regressve taxing

(c) ;:‘ggpas"e Not charged the same for all income
(d) None of these
41. India aims to achj
eve t illi
firaet by e the 5 trillion dollar economy
(a) 2022 A, p, (b) 2024 A. D.
(c) 2025 A, p. (d) 2026 A.D.
42,

%lch oneofthe following statements about Fifteenth

Finance Commiission is NOT correct ?

(a) Fifteenth Finance Commission was appointed by
the Government of India in November 27,2017

(b) SriN. k. Singh is its Chairman

(c) The récommendations of the commission will
cover the five year period 2020-25

(d) The commission has been asked to submit its

report by October 30, 2020

43. Arrange the name of the following Pallava rulers
according to their reign in correct chronological order
and select the correct answer from the codes given

1. Parmeshvaravarman |
2. Narsinghvarman |

3. Nandivarman Ii

4. Mahendravarman |

Codes :
(a) 4,2,1,3 (b) 4,3,1,2
{c) 1,3,2,4 (d) 3,2,1,4

44. Match List — | with List — Il and select the correct
answer from the codes given below the lists :

) HEm, (d) H
10, e iy s . S a8 7

. S mag
(a) i’tmmmﬁﬁwﬁa’@iﬂ%
mma@mw@m,@ﬁ.’g—‘
(@ o v TR
(d) i & i 7
41, v 5 Rfere srer ) st & Ael H A TE
NI AT <TEdl & 7

List—1 List -1
(Kings) (Queens)
A. Chandragupta 1. Duttadevi
B. Samudragupta 2. Kubernaga
C. Chandragupta Il 3. Kumarade.vi
D. Kumargupta | 4. Anantdevi
Codes :
A B C D
(@) 3 1 2 4
(b) 2 1 3 4
() 1 2 3 4
d 4 3 2 a

022%. (b) 2024%.
(c) 2025%, (d) 2026%.

42, ﬁn%f@aﬁﬁﬁq—m@qua@ﬁam:r%m
a2 7
(a) WG SR g TS EARICT]

27 73 - it
{(C;ﬂﬁiﬂaﬁmzozgﬂs#mﬁaﬁmﬁ%
=2
I 30 2020 T 31 S g
@ﬂﬁmw% =
—-_—

43. Frafafed v wmee! 1 9™ 398 TSI S
@ g Tt afen 3
T %2 § el IO w3 Hif
1. HveEd |
2. g |
3. AR 1L
4. mETTH |
+—*-—2 13 (b) 4,3,1,2
(€)1,3,2,4 (d) 3,214

44, Hﬁ—laﬁ@ﬁ—néwﬁmmqﬁ § 3%
el ™ gz B W v A By

-l Tt - 11
(yra=s) (afra)
A. ST 1. Temdt
B. HHIT 2. m"
C. 'ﬁﬂ“&f‘ﬁn 3. W
O BHIRTRY e 4, IR
+e:
A B c D
2 1
SRE
Cc 2 3
(d; 4 3 5 g
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following is NOT correctly matched ?

(Newspaper) (Founder)
|-Hilal — Maulana Abul
(@) A Kalam Azad
(b) New India — Annie Besant

(c) Tahzeeb-ul-Akhlag — Muhammad All Jinnah
(d) Samvad Kaumudi - Raja Ram Mohan Roy

Match List — | with List — |l and select the correct
answer from the codes given below the lists :

List=1 List =1l
A. Taj-ul-Masir 1. Ziauddin Barani
B. Khazain-ul-Futuh 2. Hasan Nizami
C. Tarikh-e- 3. Amir Khusro
Mubarakashahi
D. Fatwa-a-lahandari 4. Yahia bin Ahmad
Sarhindi
Codes :
A B C D
(a) 2 3 4 1
(b) 2 4 1 3
() 2 1 4 3
(d) 1 3 4 2

Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List -1 List=1l
A. Andrew Frazer 1. Famine Commission
B. Antony MacDonell 2. Irrigation
Commission

C. Colin Scott Moncrieff 3. Police Commission
D. Thomas Robertson 4. Railway Commission
Codes :

A B o D
(@ 3 1 2 4
(b) 3 2 1 4
() 1 3 2 4
(d 1 3 4 2

Given below are two statements, one labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The Arya Samaj Movement gave

self-confidence and self-reliance to the Hindus.

Reason (R) : The Arya Samaj Movement undermined

the belief in superiority of White Race.

Choose the correct answer from the codes given

below :

Codes : ‘

(a) Both (A) and (R) are true and (R} is the
correct explanation of (A) .

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

46.

47.

48,

(gwTam =) _ (w ?35?‘
(a) 37~ o e A
; _ AT

(b) & B @ﬁzm et T
(c) aEm-Ia-AEE o e T
(d) Hag FA o R
e 198 11 8 e o, e
g @ wh IR TR A
A. Hg"‘:f;“ > fam;m
g, WWgA-IA-HE 2. T et
c. af@-u- 3. IR T
D. Haar-u-Sgar 4. 1 mliammféa
b A B € D

(a) 2 3 4 1

(b) 2 4 1 "3

© 2, p “

g 1 3 4 2

Tt - | Sk
A. Tg e 1. 3 AT
B. wueAl AdHd 2. =g smam
C. I Thie AEHIS 3. gfera amEm
D. YWE TEEEH 4, (&S M
E T

A B C D
(a) 3 1 2 4
(b) 3 2 g 4
() 1 3 2 4
d 1 3 4 2

RARARARE RN =
-4 T TR (A) T TR R T (R)

FU (A) : 378 T e 3 et § sren-fawaw
3l _sten- ot wem fen o -

RO (R) : 3TH T <o X ¥a wif ) Sz
g i w3t = wwer R
ﬂmﬁgﬁmmwwﬁﬁq:

A)aﬂtla)ﬂﬁuﬁi M (R) (A) ! 7 =men
(b) (A) 3 (R) Wt ¥t & g (R), (A) 6t welt saveen
Tl & R

(c) (A) &ea & 95 (R) TTeta R
(d) (A) Tera & W (R) W R

‘]
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=
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in favour of the policy of
ON-cooperation N
with Ganghy " V! later he joined in fa

2. lala Lajpat Raj als

fMation of §
Select the wa

Codes ;

(a) 1only

() 2 only

(¢) Both 1 ang 2
(d) Neither 1 nor 3

0 participated in the
raj Party,
answer from the codes given below :

Consider the annexation of the following States

under ‘Doctrine of Lapse’ and arrange them into
chronological order -

1. Satara 2. Jhansi

3. Baghat 4. Udaipur

Selectthecorrectanmerfmmtheoodesgiven below :
Codes ;

(@) 1,4,3,2
(€) 1,3,4,2

Which ofthe following organisations approves the Fair

and Remunerative Price (FR.P.) of the sugar cane ?

(a) Cabinet Committee on Economic Affairs

(b) Commission for Agricultural Costs and Prices

(c) Directorate of Marketing and Inspection,
Ministry of Agriculture

(d) Agricultural Produce Market Committee

Given below are two statements, one labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Sunflower oil is rated as a good

quality of edible oil.

Reason (R) : It contains high quantities of

unsaturated fatty acids.

Select the correct answer from the codes given below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A)is false but (R) is true

The Policy Repo Rate and Reverse Repo Rate
announced by Reserve Bank of India on December 5,
2019 were respectively
(a) 6% and 5.75%

(c) 5.15% and 4.9%

(b) 5.40% and 5.15%
(d) 5.75% and 5.5%

BESO-19

mmmm"’“%mﬁﬁqw

Aa-wy /R w03 G B/a N
1 mr:{‘t'ﬂ‘# SR ﬂfﬁf&;_rxmt{ﬁjj_@
i A ieft 5 o 8 A -
2. vy mdl % maA A A %[rﬂﬂ(r!{tﬂﬂlfﬂ”‘l@1
Mf;ﬁn&wﬂui!mmwa:ﬁfm.
He
(a) #aa 1
(b) ¥4 2
1 3 2 30
dyami1ad2
e &1 fugin’ % aga Preafafiga oet % fs
1. om 2. g
3. wuR 4, A
A2 fed m g¢ & wdt 3w F1 =7 Fifao

L T4
(@) 1,4, 3,2

@1,3,4,2
51. 7= & 3fua IR wforfirss ge (FRP) Prefafaa 3 5

- HEA g B R 7

(a) anfie wmedt <t e w2

(b) F T 3k g M

(c) oo 3t Ffteror Peemera, Ff R

(d) Ff¥ Iu= ot afify

12 Q wo A M 4, Rl m =1 = (A) 7o o=
W1 S0 (R) HE TR |

TR (A) : FOFE WA O I o W Ere e R
R (R) : ¥ AR TE A B o gy O
At

19 e ™ g ¥ W@ s w == i

T :

(a) (A) 3% (R) At &2 & 3 (R), (A) # Wt sy

T R
(D) )3 w00 # e 1), () s

(c) (A) ¥R ® W (R) Tera 2
(d) (A) e R 9t (R) W R

vl ford ¥ gra s favag, 2019 ¥ Oy Hfa @
mmf’taﬂtﬂmm: D}

(a) 6% UE 5.75% (b) 5.40% w5 159

(c) 5.15% Td 4.9% 5.75% i 5,59

49,

50.

52.

53.
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Consider the fol_lowing statements with respect
to Consumer Price Index and select the correct
answer from the codes given below :

1. It computes price changes in both goods and
services.

2. It is computed by the Office of Economic
Advisor (OEA), Department of Industrial Policy
and Promotion.

3, Itis taken as the measure of inflation while
formulating Monetary Policy by RBI.

Codes:
(a) 1and 2 (b) 2and3
(c) 1and 3 (d) Only1

The biggest centre of Software and Business
Process Outsourcing Industries is established in
U.P. at which of the following cities ?

(a) Meerut (b) Kanpur

(c) Varanasi (d) Noida

In which of the following regions of U.P., Anna
Pratha is curse for its agriculture and forestry
development ?

(a) East U.P.

(b) Bundelkhand region of U.P.

(c) Central U.P.

(d) Western U.P.

Which of the following is NOT correctly matched ?

(District) (Popular Product)
(a) Kannauj -  Perfume
(b) Buland Shahar — Ceramic
(c) Chitrakoot - Wooden toys
(d) Pratapgarh —  Guava Jelly

Agariya, Baiga and Bhuiya scheduled tribes are
mainly inhabitants in which of following districts
of Uttar Pradesh ?

(a) Ambedkar Nagar  (b) Jalaun
(c) Sonbhadra (d) Lalitpur

Which of the following is phosphatic bio-fertilizer ?
(a) Rhizobium

(b) Blue green algae

(c) Azolla

(d) Vascular Arbuscular Mycorrhiza

Which one of the following pairs is NOT correctly
matched ?

(Singer) (Style of singing)
(a) Rajan-Sajan Mishra -  Dhrupad-Tappa
(b) Taz Begum —  Thumari-Tappa
(c) Badi Maina —  Thumari-Tappa

(d) Ambaji Chaturvedi -  Dhrupad

W@W%Wﬁ
2 ﬁwﬁﬁa“ﬁga“ﬂmﬂ mmtl
1. ag g T F F A Wﬁmﬁ (OEA),

eSO~ 19

WM“‘W
o A

’ Eili

eifis i o s fawm g

3. e frrd 4o g s A R
s g i T g fn e 2 |

HT:

(a) 1302 (b) 233

() 13M3 (d) ¥ 1

. a8 TS

A e e it < G A5

i et 8 f o 4 7
(a) 7@ (b) FAR
(c) awrdt 7?"3-3'

56, I NN ¥ Prfafs aai 4 @ fead 30 T4 39
o 3 g T e & Fr & forg aifiem @ 7
(a) T 33
(® 33 # FRTES &

(c) T3 3.9
(d) ufeadt 3.3,

57. ﬁn%f@aﬁﬂajq—maﬂ@%ﬂt?

(Rrem) (Frwfa 3eme)
(a}aﬁﬂﬂ - ¥ -
(b) g W& - = g
(c) faage - e ¥ e
(1g) s - IR e

58. pfn, &M g Y IR oAl IW KA H

Frferiga foret 3 & e . fem =@ 2 ?
(a) =g TR (b) =
icurd (d) wferage
59. Fr=fafaga # & -1 Fiehds IT-IH ¢ 7
(a) TEiferRm T e
(b) et gha farat
(c) st
(d) Feper FTFEFR HEHUTA
60. Frefeiam Fi # & P W Hifra &
() (v Fredt /Rven )
(a) TeH-EH forsy - YuR-Toq
(b) - - -z
(c) = A - geli-euq
(d) Il <gaq - 4R
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61.

62.

63.

64.

I8k :
aNswer from tl::.ith s ) and select the correct
( List - codes given below the lists :
Na -
A, “Wr::aOf Authors) (P:I:tNalrlnes)
B, ag upant: ;:::a:.hi 1. Munshi Prem Chand
C. vaj 2,
D :Vanath Mishra 3 3;2:““3
' Npat Rai ’
Srivastaya 4. Firaq Gorakhpuri
Codes .
A B
C
@ 3 ; o
b 3 ; j
(c) 3 a 5 )
(d 3
) 5w

community,

. ;p:f;r:efetfation for many is a part of regular
orning walk, checki

e i | cking the crops and
Select the correct answer from the codes given below :
Codes :
(a) Only 1
(c) Both1and 2

(b) Only 2
(d) Neither 1 nor 2

According to the report released by Green Peace
India in January, 2020, amongst 287 Indian cities,
which of the following is the most polluted city ?
(a) Raniganj (b) Jharia

(c) Bajrang Nagar (d) Sohagpur

Which of the following statement/s is/are true about
the three day International Seminar on ‘Climate
Smart Farming System’ for BIMSTEC countries held
during December 11-13, 2019 ?

1. It was held at Katmandu, Nepal.

2. It was aimed to have experience sharing for
more resilience to climate change through
ecological approach to enable improvement
of tropical small holding farming systems.

Select the correct answer from the codes given below :

Codes :

(b) Only2

(a) Only 1
(d) Neither 1 nor2

(c) Both 1 and 2

BESO - 19

61, -1 el 11 g A e R T Ay

mgdm A
- )
(Pt & M) .
. gt IR
A. gh&H
B. Tyl HEM, 52 Y
C. e 3'%?"? 3
D. uqyd T Hfarea” -4?“@
e :
A B G D,
(a) 3 4 T 2.
b 3 2 1 4
@3 4 2 1
(d 3 2 41
62. Tres v e % Tt 1 Prerfee § @ s-a1/3
ﬁﬂm%fﬁ?
1. w=g A fim wel aqeE - wmfEs SgEEn
fEd W S R |
2. Jiftreie i 3 fore gt 3 v s, I Bafin
T3S WHT, BE] ol @I a1 ATETIAhAT
fm 2 | ) )
ﬁﬁnﬁﬁaﬁaﬁmwwﬁﬁq:
et 1 (b) et 2
c) 13 232At (d) A 198 2
63. M dtw $fem g wad, 2020 F 9w R ¥ arEw
WA % 287 1 # @ Prafafed # 4 SR-w wqifus
wefta Am R 2
(a) TS
(CEEES (d) drRrmge
64. famaes <l % fore “Sreramrg v &t worreh g w1113

fewwa, 2019 % 7= gt i Feaelrr st Tt 5
mﬁﬂn%%amﬁﬁﬁaﬁq—m/ﬁnﬁyﬁ ?
1. 9 H1SHIG, AT § o gt oft |
) 2.%@@%{%%@
wﬁaﬂq%maﬁmﬁm%mm
HeaHg v I\ urs

ﬁﬁa@feﬁa‘g&mwaﬁw:

Fe:
(b) et 2

(a) Saet
(c) 13 2 QM (d) 3@ 1342
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65.

66.

67.

68.

Match List — | with List — Il and select the correct

answer from the codes given below the lists :
* List =1 List -1l
(cities) (Rivers)
A. Paris 1. Paraguay
B. Kinshasa 2. Chao Phraya
C. Bangkpk 3. Zaire (Cango)
D. Asuncion 4. Seine
Codes :
A B C D
(a) 4 1 2 3
(b) 3 4 1 2
(c) 4 3 2 1
(d 1 2 3 4

Which one of the following presents the correct North-
South sequence of the four major Islands of Japan ?
(a) Shikoku, Kyushu, Hokkaido, Honshu

(b) Honshu, Hokkaido, Shikoku, Kyushu

(c) Hokkaido, Honshu, Kyushu, Shikoku

(d) Hokkaido, Honshu, Shikoku, Kyushu

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R). Choose
the correct answer from the codes given below :
Assertion (A) : Most of the hot deserts of the world
are located on the Western margins of continents
between 15° — 30° North and South latitudes.
Reason (R) : Trade winds lose their moisture and
humidity as it move westward.
Codes :
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A)is false but (R) is true

Match List — | with List = Il and select the correct
answer from the codes given below the lists :

List—1 List—1l
(Projects) (Rivers)
A. Ukai 1. Godavari
B. Jayakawadi 2. Ambi
C. Khadakwasla 3. Mutha
D. Maurakshi 4, Tapi
Codes :
A B C D
(a) 4 1 2 3
(b) 4 1 3 2
() 1 3 4 2
(d) 3 4 2 1

65.

66.

67.

68.

asso-19
' 3 A
H?Wlifﬁw—nﬁgﬁ%ﬂaﬁrﬁmﬁwﬁﬁ-
ﬁ.’f{@w@qﬁmmmﬁﬁm;
-1 — w2l
() (afer)
A. afta 1. TTE
D. Hfea 4, ®H
w2

A B C D
(a) 4 1 2 3

(b —27
4 3, 20 L
(d) < 2 3 4y

Wﬁﬂﬁ-mm%wmﬂm
ﬁmmaﬁﬂ@gﬁiﬂm@ ?
(a) R, w9, A%, BT,
(b) &y, BFe, , T
G, 7, 7, iR
(d) 2%, iy, Freeig, T
432 o Ru T &, o A e (A) S GER A F (R)
%wﬁﬁmwélﬁ%mnﬂ@ﬂaﬁmﬂw

#ifag . _
m(A):%@%WMWW 15°® 30° 370 @@

w®: '

(a) (A) 30 (R) 3Fil 7l & 37 (R), (A) $ 58 =wE B

(b) (A);?ﬂ (R) 21 vt ¥ 0 (R), (A) i &t saws
£l

(c) (A) T & g (R) e 2
(d) (A) e B 9 (R) FE R

qﬂ—laﬁ@-llﬁgﬁﬁ@mmq@ﬁ%ﬁ

o T gz ¥ F I T AT :
gt - | T -
(aferr) (fei)
A, IH% 1. et
B. SISl 2.
C. @WEHATA! 3.
D. =& - . ardt
Fe
A B ¢ D
@ 4 1 2 3
(b) 4 1 3 2
(¢) A—3—4 2}

N
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69.  With refere

70.

71,

72

73.

74,

75.

Nce to Greece, whi llowing
statement s B/ate c hich of the fo

- Greece elected Kpterina Sakellaropoulou as
2. Katenoman President in the Country’s history.
* L9€rina is the first President who does not
elong to any political party.

;’:Cetthew?ectansmrﬁ'om&emdgmﬂbelow:
S :

(a) Only 1

(c) Both 1 and 2 (B) Only 2

(d) Neither 1 nor2

Match List — 1 with List - 1| and select the correct
answer from the codes given below the lists :
List—| List=1I
(Coal field) (Location)

A. Makum 1. Assam

B. Namchik 2. Arunachal Pradesh

C. Girdih 3. Jharkhand

D. Sohagpur 4. Madhya Pradesh
Codes :

A
(a) 1
(b) 1

(c) 1

B
2
2
4
(d) 2 1

C
3
4
3
3

AN wWAD

Two trains were running in the same direction at
90 km per hour and 70 km per hour respectively. The
faster train passed a man standing in the slower train in
18 seconds. The length of the faster train is
(a) 80 metres (b) 100 metres
(c) 120 metres (d) 150 metres

By selling an article at % of selling price, a trader
incurred a loss of 10%. The profit/loss percentage,
when it is sold at original selling price is
(a) 20% loss (b) 120% profit

(c) 32.5% loss (d) 20% profit ot

If compound interest ¥ 420 is gained at rate of 5%
per annum on a principal in second year, then what
is the principal amount ?

(a) ¥ 5,000 (b) 6,000

(c) ¥ 7,000 (d) ¥8,000

Forthe Financial Year 2019-20 the Union Government
aims to restrict the fiscal deficit at

(a) 3.3 percent of GDP (b) 3.0 percent of GNP
(c) 3.5 percent of GDP (d) 3.0 percent of GDP

Which of the following State is NOT in the list of top five

on the Sustai Index
2019-20in Ind%xgtamable Development Goals

‘a) Gujarat

i esh
¢) Andhra Prages (b) Himachal Prad

(d) Tamil Nadu

BeSO - 13
: 287
aam—wm“ﬂ.
69. m#mﬁﬁwﬂm
1. |3 =Y =
afeen TG T2 Ny < ot T
2. et b s
2 R e @ T I T
e Fad 2
(a) Haa 1 :3; #?ﬂlqﬂz
(c) 13k 2 3
Hiftrg 3t gRE
70. g -1 gt - 1@ g e :
ey md g @ Wl I F T 2L
ol et
(e 8) (araege)
A-W . HGH ga“
B. THRE 2. v
C. firdiz 3. §rEs
D_;ﬁgmg( 4 H‘W!ﬁﬂ
F2:
A B C€ D
(a) 1 2 3 4
) 1 2 4 3
c) 1 4 3 2
71. @ e e & Ry d 90 feft gl wver @
70 Rt sfy guar n‘% ot Jo1_Sd At
wmd 3 R et ed & w3 fwh @ @
18 &g 3 ar frn o;: Eﬁt’g_ﬂ@m 2
(a) B0 et 100 ¢
(c) 120 e d) 150ftet d"\j’mjg—""w
Loe]
72. Tt ag 1 foshl e /4 YR = T Rkt St 10%
7l & 2R @ 5w AT 1T, A /B
o a—S80
(a) 20% =f3 (B 120% @™ [ Vo
(c) 32.5% &IfA @20%@1 —
73. e qEwd W 5% v gd & w gwt it X 420
whte = firera @, @ e R g 7 .
(a) T 5,000 b) T6000  Adent
(c) 7,000 3{8,000 Il
74. ﬁaaﬁzmg—zo%%q%ami‘rmﬁwaﬁah%
fr feem o= R TER ?
(a) St2d. = 335f0wa (b) . w1 3.0 yfwE
(c) AR = 3550w (d) A, o 3.0 wfga
75. ﬁﬁﬁﬁiﬂﬁﬂﬂﬂﬁ-mmmﬁﬂmﬁuﬁmaﬂ

HIHF 2019-20 % ¥ uf Tt 4 gt F g & ¢
(a) T (b) e wem
(c) 3% em (d) ftrerg
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76. consider the following Credit Rating Agencies and
arrange them in chronological order :
1. CARE
2. ICRA
3. CRISIL
select the correct answer from the codes given below :

Codes :
(a) 3.2,1
(€)1,23

(b) 3,1,2
(d) 1,3,2

77. The recent amalgamation of public sector banks in
India is aimed at multiple gains.
1. Economies of scale
2. Improved access to capital
3. Covering larger geographical areas
4. Banks of global size
Select the correct benefits using the codes given below :

Codes :
{(a) 1and 2 only
(c) 1,2and 4 only

(b) 2and 3 only
(d) 1,2,3and4all

78. The Shatasahasri-Samhitais the nickname of which
of the following texts ?
(a) Rigveda
(c) Ramayana

(b) Atharvaveda
(d) Mahabharata

79. In which of the following metals the Karddamaka
Kshatrapas issued the very rare coins ?
(a) Copper (b) Silver
(c) Potin (d) Gold

80. Match List — | with List = Il and select the correct
answer from the codes given below the lists :

List—1 List -1l
(Philosophy) (Methods to achieve
salvation)
A. Nyaya Darshan 1. Acquisition of
real knowledge
B. Mimamsa Darshan 2. Knowledge of self
C. Sankhya Darshan 3, Performing
vedic rituals
D. Vedanta Darshar} 4. Logical thinking
Codes :
A B G D
(a) 2 4 1 3
(b) 4 3 1 2
€ 1 4 2 3
(d) 3 4 1 2

81. Which of the following two rulers fought the
battle near Kannauj on 17" May, 1540 7
(a) Humayun and Sultan Mohammad Nuhani
(b) Shershah and Humayun
(c) Shershah and Mirza Kamran

7

(d) Mohammad Shah and Humayun

Beso-19
ot IR,
6. m&a@wwmﬁmqmﬂ@g—
wmmammaft«wﬁzﬁm_:
1. CARE
2. ICRA
3. CRISIL
-ﬂ%iaﬂ.nﬂq’vﬂqﬂzﬁrmwﬁm
1“3, 23 (b) 3,1,2
l(:) 1,2,3 (d) 1.3,2
77 maﬁgmﬁmm%ﬁiwmﬂﬂmﬂﬁm
w1_aryh o afta 21
1, fur A
2. 4t 7% A T
3 ek iifers & a e
4. fava wrha AT F I
ﬁﬁﬁnﬂ@mmmwmmmm
(a)%ﬁa1mz (b) ¥ 2 3 3

78. -
(a) G b) G
(c) THET TgMRd

(a) T (b) Td
(c) 9H (d) =
80 @4@@-@@@;@&@@
e 1 =999 HINT :
gt - | g -1l
(39F) (et ST A 3 )
A FET ~—1. IS TH W
ifinrEm
JTHFH

4—3—+—2%
~ 4 2 3
—4—1 2%

g1, fmfufiga § A B Q wwwl & we 17 w§, 1540 #

T & T g B 7
@%@@W WEeE, TEH
D Jut ik A N
(d) v, AITE e §Y
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82.

83.

85.

86.

87.

89.

“’.hmh of the foll :

with owin

By s Lo SePh o vt 53

b ianri%i';iﬁ%” eaders were arrested and were

U He did n%rtefgetgr:l"ﬂl the demand of the party
movement Yy chance of success of the

(d) The chauri chaura violence

Wh ,
haejg?g:r%\trh?e following was NOT associated with

(a) La'a Ha rdaval

b) Pt.
(c) Barkatullap (b) Pt. Ramchandra

(d) Khudiram Bose
Which of the following is NOT correctly matched ?

(Revolts) (Years)
(a) Neel Rebellion 1859 - 60
(b) Jaintiya Rebellion 1860 - 63
(c) Kuki Rebellion 1860 - 90
(d) Kuka Revolt 1832-34

Who among the following leaders said, “I am an
Indian Tom-Tom, whose work is waking up all the
sleepers so that they may wake and work for their
motherland” ?

(a) Bal Gangadhar Tilak

(b) Mahatma Gandhi

(c) Sarojini Naidu

(d) Annie Besant

Which of the following nutrient is necessary for
‘Nodule Formation’ in legumes ?

(a) Nitrogen (b) Silicon

(c) Boron (d) None of the above

How much amount of urea will be required for

82,

. Preef 3 8 g-m gk AT

1859 - 60

1860 — 90
((;; feste 183234

g5, Freaff a8 & e s “H A g W FIELE,
o gﬁgﬂﬂ?ﬂﬁjﬂﬁ“‘q’ﬁi'%@
((a)) aret T ferereh

(b) e Tiieft

(c) wafsrt Arag
(d) ot s&e

86, Prferfe i & BA-a1 dvs A qEE wEel 4 TS

ST & :
(LY (b) et
AR LG (d) I & & B T

87. Wammmﬁm

supplying 1 kg of nitrogen ? ?
(a) 2.0 kg (b) 2.2kg ,@% c@ (a) 2.0 fm (b) 2.2 fFm @
(c) 2.5 kg (d) 2.7 kg > (c) 2.5 fem ((d) 2.7 fobm
Following are the statements regarding the Usar soil : 88. ffifag s s Aft s wwy o & .
1. It is reclaimed by adding lime. 1. 93 1 =@M T Tl 2 |
2. This soil has pH more than seven. 2. . H | |id |
3. Paddy crop can be grown in this soil. 3.9 T =1 BHA M’% |
Select the correct answer from the codes given below : 2 fed M g2 F vl I w1 Tw= Bifve
Codes : 2
(a) 1and 2 are correct (b) 2and 3 are correct (a) 132 we ¢ (b) 233w
{c) only 3 is correct  (d) only 1is correct (c) e 3w R (d) %o 158 R
According to Fortune India List of 500 Compqnie_s/ 89. Wi g&ﬁn % 500 FRTNG/frmi ) T $ aEn
Corporations, the biggest Company/Corporationin 2019 % gad &t wreft/Pogw of
(a]llgn\;as oil (a) §f0%ER ITEE FARI .
Qian Oil Corporation Ltd. ¥ @ Wt s
Oil and Natural Gas Commission (b) ﬁa-:: e f
€) Reliance Industries Ltd. (c) ;
State Bank of India (d) Re ¥ 3 Ffoza
-16-
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g0, The first floating solar power plant in
uttar Pradesh is built on which of the following dams ?
a) Matatila Dam (b) Rajghat Dam

(c) phanraul Dam (d) Rihand Dam

In which of the following cities of U.P, the Indian
Institute of Pulses Research is situated ?

(a) Lucknow (b) Varanasi

(c) Kanpur (d) Meerut

91.

92. Whichone of the following districts of Uttar Pradesh
is leading producer of orange ?
(a) Farukhabad (b) Lakhimpur

(c) Saharanpur (d) Balrampur

93. Match List — 1 with List — Il and select the correct
answer fr?m the codes given below the lists :
List—| List -1
(Institute) (Location)
A. V. V. Giri National Labour 1. Varanasi
Institute
Indian Institute of
Vegetable Research
Pandit Deen Dayal
Upadhyaya Pasu Chikitsa
Vishwavidyalaya
D. Regional Rail Training Institute 4. Noida

Codes :

B. 2, Mathura

C. 3. Ghazipur

()
(b)
(c)
(d)

Consider the following statements which are in
regards to Uttar Pradesh :
1. It is largest milk producer State in the country.
2, Maximum potato is cultivated in it in the country.
3. It is major producer of sugar cane in the
country.
4, It has third position in paddy production in the
country.
Select the correct answer from the codes given below :
Codes :
(@) 1,2and 4

(¢) 2,3and 4

A
1
4
4
2

A= WND
WNNWDO
(RN TR SN N - |

(b) 1,2and3
(d) 1and 2 only

95, “Bible Book' of North Indian classical music s related to

(a) Natyashastra
(b) Sursagar

(c) Nad-Vinad
(d) Sufinama

pes0 — 12
.. 3 fFd
g0, I wew i wEen WM“M—’
WU gL Eny 7 —
@)z a (b) TTEE Y
(c) vl aiu- (d)
o1 I sm 3 Prerfuam il i & frg wd G
A Teu fRE g ?
(a) TGS (b) ST
(d) ¥

92, vt ¥ P ¥ & w-a R gt 1 T

JaeH R 7
(2) FeEmT (p) sz
@a@ (d) s
o3. T - 1 g - 11 ¥ ik e st gl & A9
2 T g A T I F TG FRAC
Tt - | Gl
(deam) [anf&:ﬁ)
A. &, . frft osf o 1. STt
B. W RICRS! 2. wygU
C. 9. & <A SYIHAE 99 3. T
Taftremn
D. &sfty & witeror e 4. =rugt
e .
A B C D,
(a)—+— 234y
' 4 3 2 1
)4 1 2 —3
@ 2 4 3 1

94. W Nen HuR H Fraforen wri w ferem Hifvre
\1g ¥ ¥ waf gu e T d1,

Q- i W i T R SR B o R
3UE 3 F IHE T TR |

4, 9 % Jaare o 2w ¥ sue e e R
I A T g2 & T I B 9 H ;
1,233

F:
(a) L 22da 4:.__._
(c) 2,334 — (d) shaat 132

95.
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Asser:i:: (::‘e tWO statements, one s labelled 85

Assertion {i}i‘n(:lnthpr oK Reponin i of

:!tructural vlole.nc:murhﬁh”"y i o T

theenson (R) : Untouchability has been practiced N

conn;me of religious sanctions.

corr;cter the above statements and select the

answer f !

Codes : rom the codes given below

(a) Both (A) and (R) are true and (R) Is correct
explanation of (A)

(b) Both (A) and (R) are true but (R) Is not the
correct explanation of (A)

(€) (A) is true but (R) is false

(d) (A) is false but (R) is true

Following are two statements, one Is labelled as

Assertion (A) and other as Reason (R) :

Assertion (A) : Rural population does not consider
open defecation as a threat to their well being.
Reason (R) : Socio-cultural norms about purity and
pollution prevented people from having toilets at
the home.

Consider the above statements and select the
correct answer from the codes given below :
Codes :
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

98. Which one of the following is NOT among of those
four Refurbished Heritage Buildings in Kolkata that

were dedicated to the nation in January, 2020 ?
(a) Old Currency Building

(b) The Metcalfe House

(¢c) Victoria Memorial Hall

(d) Writer’s Building

99. Asperthe World Health Organisation, whichone of the
following countries was effected by biggest out-break

of measles in the world during January 2020 ?
(a) Benin

(b) Senegal

(€) Democratic Republic of Congo

(d) Nicaragua

-18-

96,
' Winlw (r) 2t 7 ¥ 3 (R),
A

97. Preifurfem 2w &, e A

BESO — 19

ramam!.wﬁwm‘@“

oo Em e

wa (A) : T T e iR A R |
, i L St

wr (R) ¢ £1fn on A3 ol T B2 H

E -

(A) $1 7 S
] :
(0) {) 3 (R) 2t e 70 (R), (&) 1 A
T = B
(c) (A) @ & ae (R) 7T 3
(d) (A)rera & 7g (R) 2

qas#m{p.)mzﬁ
# Frn (R) w2 -
mlM:Wﬂd’@ﬂq@ﬁwﬁam, w7 TR
¥ forq @an €1 7 2 | ‘ -
m(R}:ﬂﬁﬁmﬁmﬁﬁﬁ@gqmﬁ?;_mqﬁ;
mﬁ"ﬁﬁa’rﬁaﬁmﬁmﬁﬁwﬁmil ‘
v el T frew if e A A T R W
s 1 A B

R

(a) .(A)aﬂt (R) 2Fi = & 30 (R), (A) F T ==

@R

(b) (A) 3 (R) 3t = & 7 (R), (A) H &8 ==
7 e @

(c) (A) & & g (R) 376 &

(d) (A) 378 § W (R) & 2

98. fr=fafga # @ FH-M

forrara vl d it = R, SEEl, 2020 3 T

! guffa fean w2
(a) 3w =i fafeen
(b) & WeHI® T

(c) TR e T
(d) Taed fafeen

I n
100- Ico'
co
()
(c)

In.
Gr
(2
(c

101

W
pe
Te

102.
(
(
|I
(

103.

104.

105.

106.

99. i ey WieR ¥ IEER SR 2020 ¥ Ryt ¥

- 3 e gt 5 R e e R s

(a) ¥fm
(b) ¥¥T=
(c) Wi Serifes ToRRY
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ﬁ thh of the fO“DW]ng coun

i \ tries of Afr|
In W ant, India opened its fi rca
100- W’;ﬁgﬁﬁon Centre in January,r;to%a?atma Gandh|
C‘;Niger ) Nigeria
li, gouth Africa (d) Zimbabwe
Janua¥: 2020, Michelle Obama w
. g‘m mmy Award for which of the fo
(a) Becoming
(© white Rose

as conferred with
llowing albums ?
(b) Last Christmas

(d) The River

Which of the following is NOT correc
or the World Economic Forum's re
Talent Competitive Index, 20207

102. tly matched as

lease of Global

(Country) (Rank)
(a) switzerland 1
(b) Singapore 3
(c) India 72
(d) USA. 4

Consider the following statements about a 13 years
oldgirl, Suchetha Satish who won ‘100 Global Child
prodigy Award’ on 3" January, 2020 at Delhi :

1. She lives in Dubai (U.A.E.).

2. She can sing in 120 languages.
of the above, the correct statement/s is/are :
(a) 1only (b) 2only
(c) Both 1and 2 (d) Neither 1 nor2

103.

COPQé inthe year 2020 is scheduled to take place at
which of the following cities ?

(a) Glasgow (b) Madrid

(c) Frankfurt (d) Helsinki

104.

105. Baku, the capital city of Azerbaijan is situated along
the coast of which one of the following seas ?
(a) Black Sea (b) Levantine Sea

(c) Caspian Sea (d) Aral Sea

106. Match List — | with List — Il and select the correct
answer from the codes given below the lists :
List—1 List =1l \

Grasslands (Continents

A(- I.a:\sc:n : 1. North America
B. Steppes 2. Africa

C. Prairies 3, Europe :
D. Veld 4, South America
Codes :

A B C D

(@ 4 3 1 2

(b) 2 3 4 1

(c) 4 3 2 1

(d) 4 1 3 2

100.

101.

102.

103.

104.

105.

106.

-19-

pes0 19
3
L
Wmﬁm%ﬁw{:ﬁaﬁ,}ﬂw
?:)qh"“_i. = (b)ﬁmﬁ
B e 2 B
seratl, 2020 # foter sfan 1 S
e ¥ o e @ e T
(a) (o) e B
(c) & (d) 7 fat

@
(a) fRreTwIvE 1
b) R 3

T 72
(d) Z.TE.T. 4
4 s, 2020 3 Reeh # 1100 ehae ees AR
araré e eh 13 e ey A e @< A
ﬁﬁmﬂﬂﬁmﬂﬁﬂﬂm: '

1. 78 gug (3uE) 7w R

2. 9§ 120 M3l ¥ AT M A R

I § | 98 U R/
(a) ¥Aat 1 (b) et 2
(c) 132 gmt (d) ad1a&2

T 2020 F Fu-26 F A Preafafes el 4 @
fores st R 7
(b) AfEe

(a) TamET
(c) St (d) TR

ST et

a) e 4R (b) S¥= PR
Form R (d) 3= "R

-1 g -1 AR & 92
oS w%gm
-1 -1l
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107.

108.

109.

110.

111

112.

113.

Amo'da\’Works
Wonder Grass”
Which of the fo
(a) Agartala
(C) Jammu

h0D-Cum-Enhibit:iontJn “Bambo0—A
Was held on January 11-12, 2020 at
llowing cities of India ?

(b) Guwahati

(d) Imphal

M i X
anasE:z LfISt = | with List - 11 and select the correct
F1rom the codes given below the lists :

List -1
(Tribes) (L:ls:e;)"
A. Khirghiz
B. B_uslfman % .lAar;a)gn
[C)' ;;rc‘il:iuin 3. Central Asia
: 4. Kalahari
Codes ;
A B € b
(@) 3 1 4 2
(b) 2 3 4 1
() 3 4 i 2
(d 1 2 3 4
Which one of the following is largest lignite coal
field in India ?
(a) Singrauli (b) Makum
(c) Karanpura (d) Neyveli

Which of the following rivers of India is NOT a

tributary of Damodar River ?

(a) Barakar (b) Indrawati

(c) Jamunia (d) Barki

Which of the following is NOT correctly matched ?
(Canal Project) (Location)

(a) Ghatprabha Canal Project — Karnataka

(b) Ukai Canal Project — Gujarat

(c) Nira Canal Project - Maharashtra

Tamil Nadu

(d) Jawai Project -

Which one of the following statements is true ?
(a) Odisha is the largest producer of Chromite in

India.
(b) Karnataka is the largest producer of Silver in

India.
(c) Andhra Pradesh has largest reserve of Bauxite

in India. )
(d) Odisha has largest reserve of Manganese in

India.

The iron-ore reserves of India are associated with
which of the following rock systems ?

(a) Dharwar (b) Cuddappah

(¢) Vindhyan (d) Gondwana

107.

108.

109.

110.

111

112.

113.

BESO - 19

fraei T2,

" = muwm@a_ a%

n::::-ﬂ ﬁ?zggaaaﬂ 2020 sy 3 PeAfifed 3 8 fy
it oAt ?

i & v o)

EurGoll
il ol ¥ -
1 g 119 e g e T B
o 7 gz @ W I H T P
mﬁ@-l E(‘;;}"
A%’(ﬁﬁf’ 1. SMH
B. 2. A4
c.am\\ 3. ma T
D. 7. ~g. FHIeERt
F2:
A B C D
@ 3 1 4 2
2 3 4 1
3 4 1 2
@ 1 2' 3 4

{a)ml (b)

(c) Siga w

Wi 1 Prfifen SRl § @ Re-w ae B §

YRS TR 2

(a) wua= (b)

(c) Sgfan (d)

frafafeg § 8 SF-w ad gufam ad 2 2
(e aftET) (srafeafa)

(a) =T T SR -  wAReH

(b) 3T TR WA ——— TR

(c) T of@— — =~  wEmY

(d) S ofeem . - dftrerg

ﬁmﬁiﬁgaﬁﬁaﬁq-mm

(a) ¥ & S T IS 1 W 2 I ¢
(b) ¥ 3 Tt SR 1 e I T d |
({9 i st v # wowee 5 e i
(d) w3t sitfeem S 1 TR g v d |

A HLER=3F Wer

> ? ﬁnﬁ-r&aaﬁﬂﬁmjiﬂ'&
(a) HrETg (b) weo

(c) Rrem (d) Tveam

|
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pes0 1
% i it ferdran 2
114. Selva forests are characterized by 114. e uefl TR
(a) Broad leaf evergreen (a) mﬁ
(b) Broad leaf deciduous L
(c) Coniferous evergreen 2 PLESRE
(d) Coniferous deciduous d) M G &
; _— qrefr_anteht 3
115. In which of the following cities, the ‘Centre for Social | 115 =3 @ fpg THA aafeud & 7
Forestry and Eco-Rehabilitation’ is located in India ? ﬁmﬁﬁg_ﬂ___,ﬁ _“_{'Ergﬁqtrﬁ
(a) Dehradun (b) Prayagraj (d) T
(c) Nagpur (d) Bhopal (c) Mg i3 P
‘ 116. The ‘Environmental Protection Act’ in India was | 116. Td i ‘gt G =
enacted in which of the following years ? # arfia gam A1 7
§ () 1986 %
(a) 1980 A.D. (b) 1986 A.D. (a) 1980%. 1094
(c) 1992 A.D. (d) 1994 AD. (c) 1992%. (d) ' \
H HE-ET
117. Which one of the following is arranged in correct | 117. 2011 & AT H frefifiad e 2 7
descending order in terms of population density ST Il H § gl ¥ed A
(as)per 2011 census ? (a) e, feET, o, Wm
a) West Bengal, Bihar, Kerala, Uttar Pradesh ofeedt s
(b) Bihar, Uttar Pradesh, West Bengal, Kerala (b) &, e 5, o, famm ’m
(c) West Bengal, Uttar Pradesh, Bihar, Kerala gl @met, I e, ’ w7
(d) Bihar, West Bengal, Kerala, Uttar Pradesh @‘ , Ui &I, T, W
118. Match List — | with List — Il and select the correct | 118, et — | & et - Il ¥ gifra Hfrg av gl &
answer from the codes given below the lists : 2R T o A T I B = AT
List—1 List — 11 I g -1l
(Phe:&omenon) (Compf?unds) ot ") )
A. Acid rain 1. Chlorofluoro Ll QU]
carbon , . FEARGAR HTET
B. Photochemical smog 2. Carbon monoxide
C. Combination 3. Sulphur dioxide
# with haemoglobin
D. Depletion of 4. Unsaturated
ozone layer hydrocarbons
Codes :
A B C D
(@1 2 3 4
b) 3 2 4 1
c) 3 4 2 1
(d) 1 3 2 4
119. ‘Mycorrhiza’ is a symbiotic association between 119. Wﬁ@wﬂzﬁﬁﬁ%___m— ?
(a) Algae and plants (Z) et i _;m
(b) Algae and fungi (b) gla'ﬁ'mmﬁ;‘ -
(c) Fungi and plants e a;{i‘ :
(d) Blue green algae and fungi ST DN T W
120 Which of the following facts is NOT correct about | 120. i % R & fesfrfiem 3 3 Sa-w e ot @ & 2
vitamins ? : : (a) %ﬂ_ﬁaiﬁq 3T gl g SveiNe e S
(a) Some vitamins can be sg]r;thesmed by il ¢
intestinal microorganis (b) 3o M TE N T@ Tm F@
(b) Some vitamins act as hormones (c) g Tt e # Wﬂ?%sﬁ i i
(c) Some vitamins are stored in body Bt ‘K e & i
(d) Vitamin ‘K’ is a water soluble vitamin @ . K'9e1 ¥ gomiiet faerfm @
c -21-

e ———— e ——
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